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Please note that all the answers are approximate, and a small
degree of inaccuracy is expected.

1) How long? 43mm 2) How long? 86mm

3) How much? 330ml | 4) How much? 88ml | 5) How much? 560m!
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6) How long? 92mm 7) How long? 17mm
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8)How heay? 6702 | 9) How heavy? 33g. 10) How heavy? 8802
N
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Grade 3 Measurement Worksheet

Note: 1 meter (m) = 100 centimeters (cm) = 1,000 millimeters (mm)

Convert to the units shown:
1 35m = 3500 om 2 44cm =440 mm
3 14m=_1.400 om 4 78cm= 780 mm
5 91m= 9100 om 6 32m= 3200 cm
7. 13m = _13,000 mm 8 34m= 34,000 mm
9 51m=_51,000 mm 10 29m = 2,900 om
Convert to the units shown:

11,000 mm = 1 m 2 1,000 cm = 10 m
136,000 mm = 600 cm 14 7,000 cm = 70 m
5. 2,000mm =2 m 16 1,000 mm=_100 cm
7. 8,000 cm = 80 m 18 9,000 mm=_900 om
198,000 mm = 800 om 20 5,000 cm = 50 m
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Note: 1 meter (m) = 100 centimeters (cm) = 1,000 millimeters (mm)

Convert to the units shown:

1 24m= 2400 cm 2 72m=_7.200 cm
3 77cm = 770 mm 4 37m=_37,000 mm
5 79m=_7.900 cm 6 77m=_77.000 mm
7. 47m =_47.000 mm 8 85m = 8500 cm
S 53m =_53,000 mm 10 45m = 4,500 cm

Convert to the units shown:

1. 8,000 mm = 800 cm 121,000 cm = 10 m
S m 14 3,000 cm = 30 m
. cm 16. 5,000mm=5 m
1. cm 18. 4,000 mm = 4 m

10.

3
3

7,000 mm = 7. m
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Metric units of capacity: liters and mililiters

‘Grade 3 Measurement Worksheet

(Note: 1 e 1) = 1.000 it mt)

[ —
* 5L= 500 mL2 220 22000 m
* 28L= 28000 mL ¢ 270 27000 n
5 oL= 9000 mL e 78L= 78000 n
mLe 420 42000 m
mL e BaL= 64000 n

L To00mL
10000 mL= 0 L swom=6
5 1000mL= 1 L so0mL=5 L
" 2000mL=2 L 4o00mL=s

1 goomL= L= 40000mL=
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DIVISION TO 10 x 10 SHEET 2 ANSWERS

1) 15+3
2) 27
3) 2
4 20
5) 42:6
6) 54+9
7
8) 70:10
9) 18:2
10) 2143
11) 72+8
12) 30+3
13) 40+5
14) 36
15) 24
16) 63+9
17) 56+7
18) 24
19) 80
20) 30+5

‘ONETO FORTY CHALLENGE
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243 2) 131 3) 257 4) 483
126 - 125 - 134 -137
117 006 123 346
251 6) 333 7) 445 8) 572
36 - 115 -226 - 254
215 218 219 318
358 10) 260 11) 165 12) 352
215 -128 -_27 - 236
143 132 138 116
435 14) 572 15) 651 16) 268
107 - 346 -216 -_35
328 226 435 233
670 18) 587 19) 457 20) 758
255 -_ 47 -329 - 139
415 540 128 619
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Please note that all the answers are approximate, and a small degree of
inaccuracy is expected.

1) How long? 82mm 2) How long? 38mm

3) How much? 520m! | 4) How much? 780m! | 5) How much? 130m!

6) How long? 48mm 7) How long? 72mm

8) How heavy? 670z 9) How heavy? 3305
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Answers

1. The price of brand Ais 50
“The price of brand B s 48 +
Brand A is cheaper.

$10per kg
=S$12perkg

2. The shorter pine tree is 16 -7 = 9 feet
14—
The ladder s 5 feet taller than the pine tree.

3. 4xB+3x5=32+415=47
“The total cost for 3 packs of tomato seeds and 4 packs of pumpkin seeds is $47.

4. 9x5-5x5=45-25=20
There are 20 more tulips that roses.

5 24:2-12
Dave worked in the yard for 12 days.

6. 24+13+30=67
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1) How long? 50mm 2) How long? 65mm

mm

3)Howmuch?50ml | 4) How much? 25ml | 5) How much? 0m!

6) How long? 7em 7) How long? 4.5 (or 4 %) cm

mqmm

8)Howheaw? 70z  9)Howheawy? 15z | 10) How heavy? 45g
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1) How long? 7.5 (or 74) cm

2) How long? 25mm

3) How much? 35m!

4) How much? 70m! | 5) How much? 65m!

6) How long? 45mm

W

8) How heawy? 357

9)Howheavy? 90g | 10) How heavy? 75¢
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1) How long? 30mm 2) How long? 85mm

cacu)

5) How much?

8 Howheawy? 750z | 9)Howheawy?45g | 10) How heavy? 150g
N
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1) How long? Z.5cm 2) How long? 35mm

3) How much? 300ml | 4) How much? 85ml | 5) How much? 650mI
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6) How long? 80mm 7) How long? 5.5 (or 5%jem

9)Howheavy? 558 | 10) How heavy? 350





